arRid 2Rl Adl yRie(] sisa, aliefladR

3Hsoofl ¥18Ad SHiS: AR0/04599, AHANAHs uiAlRece, dol-3 Aydlddl dl.
19/09/2070 ail A% HSN &RI A¥UIHI  AHIAA Alol—dIgal RuslicHs Albid Ui
Yoidd Udlloll 11 ¥dioflefl UIfA%Beid 210242 S| dI. 1/ 09/R099 all A% URIg s3] d
Ao Bsd Ulailoll GAeUR] asell sig Yl &l dl d dl. 32/09/029 dll A¥
GiYlRell 19— 00 SIS ALIHi HsNal ¥33] 18R] Aled Y SAI ¥RINYUIHI A1 &g ¥37]
Usiel 53 dl. R/ 0¢ /099 ol A% A1V AIoAR ] URig sAUIHT 41dd &d]. ¥ el
vl Bedls 11l Hodi A 2edd HsAN &IRI A6 [Ed MIRs AHY dxsll 418 BT (AR
53| RUIEBS H1U3] BHIouR Sl URIg S 2419 B, AHal d RUIYE Vi3] 1042 5] Yol
89 Hs? &I MYH doisSIall ol —dIgol QusicHs Altid ul2iiHi GAEURIA ANAd 2[lol|
A2 AR F22RdIgxs ¥ ylell MHIRIHI ofl doissiel]l slaye: ulEAlucl 2e i
sdidlgi areidiyist GAedRloll A€l dUIR s3lal MR—[Ed sUIHT AHIUR.

alg: (1) U sHis: 5 i Baal C () ud sHis: 30 #i C ol D 3 cial [AscUl
AA1 B Axe (3) yH sais: 107 Hi A, B 210 C 23 213 [Ascdl 4141 8. 4l A €3s
UHHI GAEURIA Bsd [Ascul Us] s1g s [Ascu e1idd &1 dl ddl GAeURIA d Mol
AR diot dAefal () @1 AudIHi 2192, Yol dcif&d GAeURIA %37 olig A,

Que Correct Answer
No Option & Answer (With Options)
1 Main source of glucose for corneal layer is from (C) aqueous humour
(A) plasma
(B) blood

(C) aqueous humour

(D) tear film

2 ‘ollgetlet sl usA dlselell erdyailatalol WAl [@seu Al @ cugenatdll sl
(A)  sugeid ol ud B Uty

(B) ougjeicdl sl usia ®
(C) cugaiadl sl usiy
(D) ougetieadl sl usi

3 At birth, the eye has the following , EXCEPT : (D) Deep anterior
(A) Underdeveloped macula chamber

(B) Hypermetropia

(C) Small pupil

(D) Deep anterior chamber

A | e our time table, there are 46 periods in a week. (B) According to
(A) Instead of
(B) Accordingto

(C) Inspite of
(D) Because off
5 During the act of accommodation the zonules (B Slackens
(A) becomes tense & &
C)  relaxes
(B) Slackens
(C) relaxes

(D) remain the same




6 Ulele 512 glRLYASI 3 scsHl Y3 52 8. 230{l 1/4 Y53l 40 km/hroll | (A) 160 km
35U Y3 53 8. clsle] vidR 60 km/hrofl 35U Y3 52 8. vdR 2l
(A) 160 km
(B) 150 km
(C) 135km
( 120 km

CG)

7 Which of the following is carcinogenic ? (B) Ethylene oxide

Autoclave

=

B) Ethylene oxide

Hot air oven

o

None of the above

P
=)
=

8 Colour sense is a function of (A) cones

cones

=

rods

retinal pigment epithelium

—_—~ o~~~
0 @

ganglion cells

S

9 The bony orbit is made up of : (B) 7 bones
A) 5bones
B) 7bones
C) 8bones
D) 9bones

10 Raiw 2oesll A Aot 2oe spudl. @ yas
(A) Ran
(B) i3
(C) gas
(D) oux

=

11 Average diameter of optic disc is (A) 1.5mm
A) 1.5mm

C) 2.5mm

(
(B) 2.0mm
(
(D) 5.0mm

12 sl UslRell AIAHL ALl WAool W2l 1 52l 1l sl B ? (A wRalln
w@alln
B) dddd
C) idola
D) €35 UslRell ds wuIlul

=

13 Each of the following is a type of dry heat sterilization, EXCEPT: (B) Autoclave
A) Flaming

B) Autoclave
C) Incineration

Hot air oven

P
o
=

14 wuelalesl BRTS (ol .2l AU ot Aclial sl dllHl AaumeHi A | (€ ogofayof
]2

ool YlAul
B) wsud

C) osetulol

D) ool cacslR

=

—_— o~ o~ —~
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15 Optic Nerve is backward continuation of (B) Nerve fiber layer
(A) Ganglion cell layer
(B) Nerve fiber layer
(C) Inner plexiform layer
(D) Outer nuclear layer
16 Glands of Krause and Wolfring are : (C) Accessory lacrimal
(A) Modified sweat glands glands
(B) Modified sebaceous glands
(C) Accessory lacrimal glands
(D) Main lacrimal glands
17 Yol atslott {lst e uul (A sctdle] goHzan %Rl d)  d
(A) yst
(B) Allew
(C) =R
(D) cusl
18 The far point at which smallest object can be seen clearly is called (B) Punctum remotum
(A) Punctum proximum
(B) Punctum remotum
(C) Range of accommodation
(D) Amplitude of accommodation
19 | have to return this book today. (Change the voice) (C) This book has to be
(A) This book is to be returned by me today. returned by me
(B) This book had to be returned by me today. today.
(C) This book has to be returned by me today.
(D) This book has been returned by me today.
20 Fumigation is done by : (A) Formalin gas
(A) Formalin gas
(B) Chlorine gas
(C) Methylene oxide
(D) Allof the above
21 WSL ARAUAS drd Hgotetet Usdtal Al 58 GuHL Ul el ? (A Soefl A2
(A)  $atell AR
(B) g AR
(C) oetel AR
(D) QARsl AR
22 Muscles having opposite action in the same eye is called (D) Antagonist
(A) Version
(B) Vergence
(C) Asgonist
(D) Antagonist
23 The physiological tone of the ciliary muscle is : (A) 1.0dioptre
(A) 1.0dioptre
(B) 1.5dioptres
(C) 2.0dioptres
(D) 2.5 dioptres




24

(A)
(B)
(C)
(D)

Which system measures the PD using “corneal reflex” ?
Topcon PD-2, PD meter

Essilor Pupilometer

PD Ruler

Both A and B

(D)

Both Aand B

25

(A)
(B)
(C)
(D)

Qety, §A il WA ucler sl [Auid wavdl,
A

¥
8
A3la Bola

(D)

Aol B olgl

26

(A)
(B)
(C)
(D)

Which of the following is NOT a method for performing anterior capsulotomy ?

Can opener
Linear
Continuous circular

Needling

(D)

Needling

27

(A)
(B)
(C)
(D)

WReiER Peclla sal Bectiell s€ 2uddl (Madl) o2l ?
S Hal1R

gae @ glrst

oflR Anau

%ollola

(€

AR AWMU

28

(A)
(B)
(C)
(D)

The outermost area of Lenticular lens is called as
Carrier

Aperture

Both A and B

None of the above

(A)

Carrier

29

(A)
(B)
(C)
(D)

o5% @lidlclloll Gelol i3 elld @M DL sl [BeciHi wUAg B ?
$%9

S HoO1R

@lctelolR

Y2

(€

ULdalolR

30

(A)
(B)
(C)
(D)

Dioptric power of the cornea is approximately :

35 dioptres
38 dioptres
43 dioptres
45 dioptres

(C

D)

43 dioptres
&
45 dioptres

31

(A)
(B)
(C)
(D)

Which optical device has the smallest field of view for comparable levels of
magnification ?

hand held magnifier

telescope

contact lens combined telescope

fresnel prism

(B)

telescope

32

(A)
(B)
(C)
(D)

‘o A clseloll YRsall AR [@seu .
oyl uad)

SR odal Aall

uuell uaa B

oy €18l g

(B)

SlEFa? olUal
Yl




33 Final refractive error correction is given after how many days of Small Incision (B) 6 weeks
Manual cataract surgery ?
(A) 4 weeks
(B) 6weeks
(C) 8weeks
(D) 12 weeks
34 Fill in the blank using proper spelling: He is the ..................... of the grand hotel. | (C) proprietor
(A) Propritor
(B) propryetor
(Q) proprietor
(D) propriter
35 Which low vision patient would most likely experience the most difficulty in (C) apatient with
driving with city traffic ? advanced
(A) apatient with congenital nystagmus glaucoma
(B) a patient with ocular albinism
(C) apatient with advanced glaucoma
(D) a patient with blue cone monochromatism
36 ARARML BHELAUE ABRMT AU HRR g2l Ject{l 2uaUe] woset | (B) 1400
SaALHL AR ?
(A) 1424l
(B) 1404l
(C) 141l
(D) 1394l
37 The sclera is thinnest at the : (D) Near insertion of
(A) Limbus rectii muscles
(B) Equator
(C) Posterior pole
(D) Near insertion of rectii muscles
38 Which ocular disorder in its advanced stages, would respond best to (D) RP
minification ?
(A) ARMD
(B) Aniridia
(C) Toxoplasmosis
(D) Rrp
39 What is the angle of hydrodissection cannula ? (B) 45 degrees
(A) 30 degrees
(B) 45 degrees
(C) 60 degrees
(D) 90 degrees
40 ‘a3l B Y Al D delaot MRl cdl B Ue 8o B 2 © 230
(A) Umsie
(B) otR@e M3l
() ™.t
(D) eucwl
41 The angle substended by each limb of a letter of Snellen’s visual acuity chart is (C) 1 minute of an arc
(A) 5 minutes of an arc
(B) 2 minutes of an arc
(C) 1 minute of an arc

(D)

3 minutes of an arc




42

(A)
(B)
(C)
(D)

Copy 52 HIB AR 32cll dud Paste 531 asA B ?
oL As dud

o cduld

Uals Arld

HallRd aud

(€

Uas A

43

(A)
(B)
(C)
(D)

Which of the following is NOT used for testing colour vision ?
Ishihara’s chart test

Farnsworth Munsell test

Lantern test

Fincham’s test

(D)

Fincham’s test

44

(A)
(B)
(C)
(D)

o(lAstiuiell %€l usdl v 58 ?
8314
2709
1315
2518

(A)

8314

45

(A)
(B)
(C)
(D)

For a +3.00 D hyperope who is fixing at an object at 40 cm. The accommodative
demand is

+1.50 D
+3.50D
+4.50 D
+5.50 D

(D)

+5.50D

46

(A)
(B)
(C)
(D)

wldl elsell enw.
Gauld

ER (G

s1Be{l

YolyRd

(A)

Gauld

47

(A)
(B)
(C)
(D)

Which kind of incision is made during chalazion excision from the conjunctival
side ?

Horizontal

Vertical

Oblique

Any

(B)

Vertical

48

(A)
(B)
(C)
(D)

Give opposite gender for : ‘Bullock’
Heifer

Bully

Calf

Colt

(A)

Heifer

49

(A)
(B)
(C)
(D)

In Keratoconic patients the type of astigmatism commonly seen is
Regular astigmatism

Irregular astigmatism

Oblique astigmatism

Simple astigmatism

(B)

Irregular
astigmatism

50

(A)
(B)
(C)
(D)

US](& AUl A5 WMo} USEAL cAtlof cales 3. 400 A ol criof cales 3.
420 AL Al AN ER ....oovreees % &

4

5

10

8

(B)




51 Mucous layer of the tear film is principally secreted by : (C) Conjunctival goblet
(A) Meibomian glands cells
(B) Lacrimal glands
(C) Conjunctival goblet cells
(D) Sweat glands
52 URRHUR WHRA dl A3l AUl sdadall wA Adaual [@seu Nl € Suell suL
(A)  viusigtell SR Uitd Ucl dla dl ol AM % 83 A 518 ofslet
(B) ewdolattet WA Yu A D 530 A o8l
(C)  Saurell guL 8l Al 818 ofstet 53 a3 otdl
(D) alset s2ll Al @dlalet $a
53 If a single vision lens is placed in the lensometer in the reverse position (concave | (D) Front vertex power
side towards observer), the power value obtained is a measure of
(A) Equivalent power
(B) Backvertex power
(C) Effective power
(D) Front vertex power
54 Which anaesthetic agent is used in peribulbar block ? (A) 2% lignocaine
(A) 2% lignocaine
(B) 4% lignocaine
(C) 10% bupivacaine
(D) Hyaluronidase
55 Cornea is of form? (C) Meniscus
(A) Plano convex
(B) Biconvex
(C) Meniscus
(D) Biconcave
56 goltastaul cllsyusla d2ollell Bsu 3ecll sl d ? (€ 3x10%ms™
(A) 3x10"ms?
(B) 3x10°ms?
(C) 3x10°ms™
(D) 3x10%°ms?
57 Which layer of the cornea has good regenerative potential ? (A) Epithelium
(A) Epithelium
(B) Endothelium
(C) Bowman’s membrane
(D) Descemet’s membrane
58 eletofl gt 2logetl Aol Ject 3Rl Yeloll d3el st 2wt | (P 3.5 00,000 Al 3.
8 ? 10,00,000/-
(A) 3. 3,00,000/- &l 3.10,00,000/-
(B) 3. 1,00,000/- ¢l 3. 5,00,000/-
(C) 3. 50,0002 3. 8,00,000/-
(D) 3. 5,00,000 &l 3. 10,00,000/-
59 Anterior segment includes the (A) Crystalline lens and
(A) Crystalline lens and structures anterior to it structures anterior
(B) Only crystalline lens to it
(C) Corneaand aqueous humour

(D)

Iris and cornea




60

(A)
(B)
(C)
(D)

s(Q otile wcAlot AB A sl gl AlSlA 2ol AZA WA D ?
Wellell Y Ul AGlallA 2ls sl otel

@ucell Yol gulal Uset 54

s scllal HEQ UG HRWL 59 W8N

GURLSA dMIH

(D)

GURS HIH

61

(A)
(B)
(C)
(D)

The usual size of a clear corneal phacoemulsification incision is :
3.5mm
2.8 mm
1.5mm

1mm

(B)

2.8 mm

62

(A)
(B)
(C)
(D)

Which one of the following is an indentation tonometer ?
Goldmann tonometer

Perkin’s tonometer

Pneumatic tonometer

Schiotz tonometer

(D)

Schiotz tonometer

63

(A)
(B)
(C)
(D)

A child was .........uuueeeenn. to Nalini.
borne

born

bored

beared

(B)

born

64

(A)
(B)
(C)
(D)

The lens vesicle is formed from :
Surface ectoderm
Neuroectoderm

Mesoderm

Endoderm

(A)

Surface ectoderm

65

(A)
(B)
(C)
(D)

djeoll Ass et slAUUS AvAL ot Al Al )6 Hgs Avtclloll At Sl
82

Ytietaoll

dJeutlet

A2 ua ANt

AUNA dHHA

(€

A5 wal AN

66

(A)
(B)
(C)
(D)

In consensual light reflex when light is shown to one eye
The pupil in other eye will dilate

The pupil in other eye will constrict

In both the eyes pupils will dilate

None of the above

(B)

The pupil in other
eye will constrict

67

(A)
(B)
(C)
(D)

‘€ld dry Ad’ 3@ualotell Al w20l
Elcl wlel sal

elcdell dQ] Wug

Al olctiacll

Al ot oldlacl

(€

AU ot

68

(A)
(B)
(C)
(D)

The primary treatment of a patient of chemical injury is :
To elicit history

To take patient’s visual acuity

To give wash with saline

To observe

(€

To give wash with
saline




69

(A)
(B)
(C)
(D)

Which one of the following is not a part of near reflex ?
Convergence

Accommodation

Intorsion

Miosis

(€

Intorsion

70

(A)
(B)
(C)
(D)

The retina develops from :
Surface ectoderm
Neuroectoderm
Mesoderm

Endoderm

(B)

Neuroectoderm

71

(A)
(B)
(C)
(D)

AlBdRHL RUAA WS YL A, (332 gollNozd - 20174(l Yol ALl lHall
$12olq] ol Rl

alldn dielR

Qe AsAAA

3cdls AlolR

Wla vlla

(D)

¥la alu

72

(A)
(B)
(C)
(D)

The refractive index of ophthalmic crown glass is
1.533
1.423
1.523
1.463

(€

1.523

73

(A)
(B)
(C)
(D)

Mot AYeldoll QoL deollal Ad URM Yot Yyul el dAlB Ul
oelcllot gl Auef WU SRl

oRUE

ALRLRHL

ARLUE

eurLas

(€

ALRIRE

74

(A)
(B)
(C)
(D)

Regurgitation test indicates blockage at the level of :
Lacrimal canaliculi

Lacrimal sac

Lower end of nasolacrimal duct

Upper end of nasolacrimal duct

(€

Lower end of
nasolacrimal duct

75

(A)
(B)
(C)
(D)

ARA Asell .
RIEEY
U2l
RESET
REIERT

(A)

PIEEY

76

(A)
(B)
(C)
(D)

One degree is equal to how many prism diopters ?
1.56 PD
1.75PD
1.25PD
2.00PD

(D)

2.00 PD

77

(A)
(B)
(C)
(D)

Which type of refractive error is caused by Nuclear sclerosis ?
Myopia

Hypermetropia

Astigmatism

Aphakia

(A)

Myopia
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78 Parentof acalfis .......cceeeeernnns (C) cow
(A) cat
(B) lion
(C) cow
(D) hen
79 The purpose of binocular balancing is to (B) Balance the state
(A) Balance the visual acuity of two eyes. of accommodation
(B) Balance the state of accommodation of the two eyes. of the two eyes.
(C) Balance the hetarophoria between the two eyes.
(D) Balance vergence of the two eyes.
80 goratcl etrttell YU otactsal 56 &l ? (A g2e@A
(A) sw@aA
(B) uRradl2is
(C) eradHoulau
(D) R
81 All tests are used to diagnose the cause of watering, EXCEPT: (D) Tear film breakup
(A) Regurgitation test time
(B) Jonesdye test
(C) Lacrimal syringing
(D) Tear film breakup time
82 Decll 5230 sleaul BAAE Nl 58 HollAEslL % 52 D ? © NNy uRvenl
(A)  UAReAl Wgclell ARy aliellegedl slos?)
(B) ARl eliret At Aol doitll
(C) 2NN uRMeul aitlleyoll slos?l oitll
(D) opesctotl elcduclAeAl suslo{l
83 Aqueous humor is secreted by (A) Pars plicata
(A) Pars plicata
(B) Parsplana
(C) Irisroot
(D) Choroid
84 Shallow anterior chamber is seen in which stage of cataract ? (D) Intumescent
(A) Mature
(B) Hypermature
(C) Morganian
(D) Intumescent
85 Nasolacrimal duct opens into (C) Inferior meatus of
(A) Middle meatus of nose nose
(B) Superior meatus of nose
(C) Inferior meatus of nose
(D) Orbit
86 ARLAN Al Sl IR Aol sl (RecMi wAd B ? (O 502 AHeuA
(A)  olouusisl
(B) euatoR
(C) oellole
(D) ollz Amsty




87

(A)
(B)
(C)
(D)

Removal of foreign body is done with the help of all, EXCEPT :
Foreign body spud

Hypodermic needle

Wet cotton swab stick

11 no. blade

(D)

11 no. blade

88

(A)
(B)
(C)
(D)

wiell, stu wa glRlell [AU&t asletcalls wajsN 1.33,1.50 sl 2.72 8l dl
Al ay ystella ug ML sy &2 ?

well

sl

&Rl

AN U4 Asul o8l

(€

&l

89

(A)
(B)
(C)
(D)

Total no. of eyelashes in upper lid are
100-150

50-70

60-80

150-200

(A)

100-150

90

(A)
(B)
(C)
(D)

AR AS: Hi + (T
LA

WA

oW

Y

(€

Houd

91

(A)
(B)
(C)
(D)

Enophthalmos means :
Absence of eyeball
Small eyeball

Sunken eyeball

Large eyeball

(€

Sunken eyeball

92

(A)
(B)
(C)
(D)

Following factor is responsible for changes in intraocular pressure
Axial length

Cataract

Systemic Venous Pressure

Corneal diameter

(€

Systemic Venous
Pressure

93

(A)
(B)
(C)
(D)

If you don’t come regularly, I ................. you.
will punish

Won't punish

could punish

punished

(A)

will punish

94

(A)
(B)
(C)
(D)

Alkali injury is more severe than acid injury because :
It causes more foreign body sensation

The diagnosis is easily missed

Alkalis penetrate deeper

Alkalis are more concentrated in nature

(€

Alkalis penetrate
deeper

95

(A)
(B)
(C)
(D)

WoSlaslUoll UM 2ol GUAL Ul B ?
glsllls sl

ystalla stu

AU slU

AlRsA s

(D)

VR s sleSua]




96

(A)
(B)
(C)
(D)

This is not the type of eyelid Movement
Blinking
Duction
Peering
Winking

(B)

Duction

97

(A)
(B)
(C)
(D)

YRuld 2oeq(l AR B3\
U+ @Quta

u@ + wd

Y+ [Rwd

Y+ [+ we

(€

Y + [@Quiat

98

(A)
(B)
(C)
(D)

How many cardinal positions of gaze are there ?
9
8
7
6

(D)

99

(A)
(B)
(C)
(D)

Superior rectus muscle and inferior oblique muscles are
Elevators

Adductors

Depressors

Intortors

(A)

Elevators

100

(A)
(B)
(C)
(D)

Epilation is performed in case of :
Trichiasis

Poliosis

Madarosis

Scoliosis

(A)

Trichiasis

101

(A)
(B)
(C)
(D)

WY, el ealoieo] woHRUA 512 sUL el waAg 8 ?
AR

Rl

3

a3l

(B)

Rl

102

(A)
(B)
(C)
(D)

Dilator papillae muscle of the iris is supplied by
The parasympathetic fibres through the third nerve
The cervical sympathetic nerves

The trochlear nerve

The trigeminal nerve

(B)

The cervical
sympathetic nerves

103

(A)
(B)
(C)
(D)

ARl Ul cuctg®l el Al Ml 58 Ul sil Lleus sLs?
AcAURAL AR WA dlUclHl vt ?

afesRAct AUldet Astel

sl alde weu

oAt At uRne

o3 [Aauslal g

(D)

st [Aaslal
22

104

(A)
(B)
(C)
(D)

The commonest cause for trichiasis is :
Trachoma

Spring catarrh

Blepharitis

Chemical burns

(A)

Trachoma




105

(A)
(B)
(C)
(D)

slAdl elauadl aud @Qesui el wmes sl 33 d 2
8¢
UESIR

udlst
GURAS dHIH

(D)

GURS LM

106

(A)
(B)
(C)
(D)

Scotopic vision is a function of
Rods

Cones

Ganglion cells

Nerve fiber layer

(A)

Rods

107

(A)
(B)
(C)
(D)

Syringing should be done through :
Upper punctum

Lower punctum

Any punctum

Depends on site of block

(A),
(B)

(€

Upper punctum

Lower punctum
&
Any punctum

108

(A)
(B)
(C)
(D)

They ...cceeeeenee early every day.
got up

getting up

get up

gets up

(€

get up

109

(A)
(B)
(C)
(D)

Colour vision deficiency is more seen in
Male

Female

Equal

None of the above

(A)

Male

110

(A)
(B)
(C)
(D)

A [@Qscnuiedl sa Azadeal [Qre Wl ay &l B ?
LAN
MAN
WAN
PAN

(€

WAN

111

(A)
(B)
(C)
(D)

Sommering’s ring is seen in :
Wilson’s disease
Keratoconus

After cataract surgery

Buphthalmos

(€

After cataract
surgery

112

(A)
(B)
(C)
(D)

st wlelel? Qe Qe sl disemiell MiBd QANGEl usiR
QUL ell.

USRALUS

AdaiMs

uRHwetatus

sdalUs

(D)

Sl US

113

(A)
(B)
(C)
(D)

If the patients eye is , the rays leave the eye diverging and the
far point will be situated behind the patient’s eye.

Myopic
Hypermetropic
Astigmatic

Anisometropic

(B)

Hypermetropic




114 Tonometer is used to measure : (B) Intraocular
(A) Corneal thickness pressure
(B) Intraocular pressure
(C) Corneal diameter
(D) Corneal curvature
115 When one eye is hyperopic and the other is myopic the condition is called (C) Anisometropia
(A) Hypermetropia
(B) Presbyopia
(Q) Anisometropia
(D) None of the above
116 st AxAall YuA2A13l [Qevaeus 3wgllell USIR glRL % sl (A) 3. 150w
UAA BEISUA 2017-18 Aol UL ol HL-cllRUCL AlXoll 6501 clY
YRR el Aat dedll calils ias Haulel oissl seudl qWAA & ?
(A) 3. 1.50cm
(B) 3. 175w
(C) 3. 180w
(D) 3. 2.00cw
117 Cobblestone appearance of conjunctiva is seen in : (B) Spring catarrh
(A) Trachoma
(B) Spring catarrh
(C) Mucopurulent conjunctivitis
(D) Phylctenular conjunctivitis
118 Qaui ‘aed W ¥ 58 ARl Hotlacldi a & ? (B) g AR
(A) 8, uls2lolR
(B) 9, ullseloiR
(C) 7,xseledR
(D) 6, wseleAR
119 Patients don’t have any complaint of double vision in the below mentioned (C) Occasional
condition. exotropia
(A) Keratoconus
(B) Uncorrected astigmatism
(Q) Occasional exotropia
(D) None of the above
120 wpdLo{lallell lugl sAL eitet’ AceAYs U2 As Aceall WA [Aseu d) :s0ll
e s
(A)  cluasiu
(B) aul
(C) QAayd
(D) 2sall
121 The image formed in indirect ophthalmoscopy is : (C) Real and inverted
(A) Virtual and erect
(B) Virtual and inverted
(C) Realandinverted

(D)

Real and erect




122 Uveal Tract comprises (B) Ciliary body, Iris,
(A) Sclera, Choroid, Retina Choroid
(B) Ciliary body, Iris, Choroid
(C) Ora Serrata, Ciliary Body, Sclera
(D) None of the above
123 Neither Tom nor Ben .................. arrived yet. (B) has
(A) have
(B) has
(C) were
(D) will
124 The LASER used for iridotomy is : (A) Nd:YAG
(A) Nd:YAG
(B) Argon
(C) Excimer
(D) Diode
125 ARBS clRULE WRAU-USIRL UR Usdl ANAB s uBal oite Auiell g ua | B) oy (RAE)
82
(A) Sldauge
(B) wiH (A3l
(C) ¥Aan siolae
(D) sl
126 One mm shift in corneal reflex is equivalent to an ocular misalignment (B) 14 prism diopter
approximately
(A) 4prism diopter
(B) 14 prism diopter
(C) 7 prism diopter
(D) 2prism diopter
127 oAl WRll yan ARsIRAs acsul 58 B ? (A) g2
(A) sedc
(B) @sels
(C) Rl Yoy
(D) et AHeUU
128 Which dye is used to study choroidal circulation ? (B) Indocyanine green
(A) Flourescein dye
(B) Indocyanine green
(C) Trypan blue
(D) Methylene blue
129 A patient who is slightly esophoric at distance and has a large esophoria at near | (C) Convergence
is described as Excess
(A) Low AC/A ratio
(B) Divergence Excess
(C) Convergence Excess
(D) Convergence Insufficiency
130 For rapid reduction of intra-ocular pressure, intravenous Mannitol is (B) 20 % solution
administered as : rapidly
(A) 20 % solution slowly
(B) 20% solution rapidly
(C) 50 % solution slowly

(D)

50 % solution rapidly




131 sl AU dlgsl UAlddoll et HABALA B ? B) ol cizdl 20

A) Rl el 40 cuviell AUl Sl el 20 A
B) ®oll arcll 20 cltwell 20l Sl
C) Rl adrdl 5525 20l &l
D) ®Roll arcll 2 5As2l 5 5As 8l

132 Crowding phenomena is found in (D) Amblyopia

>

(A) Color blindness
(B) High myopia
(C) ARC.

( Amblyopia

S

133 3:45 sCUl3 NeltloRl A A 58 Rkl Klal Had ? B) yd
(A) ulEn
(B) yd
(C) GdR
(D) el@w

134 Who discovered the ophthalmoscope ? (B) Von Helmholtz

Mac Muren

=

Von Helmholtz

=

Hruby

o

Mackay Marg

—_——~ — -
=)
=

135 ‘slgal Aol ouAl N elA ay {18l el wesieall usi wgudl. ) @Q3s
A) Guul

B) Ul
C) AR
D) cald?s

136 Stereopsis arises , when desparate retinal elements lying in Panum’s (A) Horizontal only
area are stimulated.

Horizontal only

=

(

(B) Horizontal and Vertical
(C) BothAandB
(

D) Vertical only
137 Progressive pathological myopia may show all of the following in the fundus, (D) Shot silk
EXCEPT : appearance
A) Peripapillary atrophy

B) Foster Fuch’s spot

Posterior staphyloma

P s
(@)
-~

Shot silk appearance

S

138 Sohan ......cceeuenee (to play) a cricket match yesterday. (A) played
played

B) was playing
plays

has played

So=>

139 The most common Vitamin Deficiency leading to nutritional amblyopia is: (C) Vitamin ‘B’

Vitamin ‘A’

=

B) Vitamin‘C’
C) Vitamin ‘B’

P

D) Vitamin ‘D’
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140

(A)
(B)
(C)
(D)

8ldt dAGee urulaul 3als dl3 g GuAoMl Aauad ] ?
sluRetl uldau

stolatotl Alolau

slololrdRYsd Jslse

Asteseatl Aldau

(€

slolotrcdRyscl
Aslee

141

(A)
(B)
(C)
(D)

In Argyll Robertson pupil :

Only accomodation reflex is retained
Only light reflex is retained

Both reflexes are retained

Both reflexes are lost

(A)

Only accomodation
reflex is retained

142

(A)
(B)
(C)
(D)

ol.5. 61510] GUollM Rl
$locl

awy(s

Asell

gale

(€

Asell

143

(A)
(B)
(C)
(D)

Worth 4 dot test measure:
State of binocular vision
Heterophoria

Stereo acuity

Fixation pattern

(A)

State of binocular
vision

144

(A)
(B)
(C)
(D)

Which of these is a known complication after cataract surgery ?
Bullous keratopathy

Exposure keratopathy

Neurotrophic keratopathy

Neuroparalytic keratopathy

(A)

Bullous
keratopathy

145

(A)
(B)
(C)
(D)

In inverse occlusion, occlusion is given to:
Good eye

Bad eye

Both eye

None of the above

(B)

Bad eye

146

(A)
(B)
(C)
(D)

alluRe{l ot At At WAL SlQL Ut @8 A ?
sAse?

HHAAER

et [@sta wls13l

dlgst [@Qsia wlsi3l

(A)

sASeR

147

(A)
(B)
(C)
(D)

VEP ( Visual Evoked Potential ) is useful for the diagnosis of :
Central retinal artery occlusion

Age related macular degeneration

Retinal detachment

Optic neuritis

(D)

Optic neuritis

148

(A)
(B)
(C)
(D)

56 AU sello(l WWARA wl3u st etrcll sl wal d8ellot Asclld
aud wWuR avidell dadlsj Gele Y3 wisy & ?

UELMLel oS [(ASIAHIR WEAesU SlBReR AAwNe2 W ARl (ANIDMA)
AlSlal 22 SlaseeR AaxNe2 ARl (0SDMA)

AUlyyutal Slosre: AaxNe2 AZEl (APDMA)

GrlRlvis SlBeR Aaxwiee AUARNE (UDMA)

(B)

wlslau e
Sl Aol
INENEIEN
(OSDMA)




149 The time required for completion of Amblyopia treatment depends on (D) All of the above
(A) Degree of amblyopia
(B) Compliance with prescribed regimen
(C) Asge of the patient
(D) Allof the above
150 Which of these intra-ocular lenses helps to restore accomodation ? (A) Multifocal
(A) Multifocal
(B) Toric
(C) Adjustable
(D) Aspheric
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